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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.71 84.78 | FnLst | 0oo ~ 671 1.82 9.73 Zzh s 1.00 | 5.00 ~ 820 84.78 | =S | 5,00 ~ 820 )| 1.82 973
2 100kN/m#%#BZ25| 1.00 | 000 ~ 0.02| 100.27 |3mZEBZE| — ~ — — — | 100kN/mi%E#BZ % | 1.00 | 1065 ~ 1070 | 100.27 |3mEHEZS -~ — — —
Zhst 1.00 | 002 ~ 780 100.00 | #nst | 000 ~ 780|211 11.31 Fhs 1.00 | 5.00 ~ 1065 100.00 | =nS | 500 ~ 1070 2.11 11.81
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 000 ~ 5678 72.32 | =LY | 000 ~ 578|178 9.64 ZzhnLst 1.00 | 5.00 ~ 6.50 7232 | EnS | 600 ~ 660|178 9.64
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 5.14 64.00 | TS |o0oo ~ 514|175 9.38 ZzhLs 1.00 | 5.00 ~ b6.560 64.00 | =nS | 6,00 ~ 560|175 9.38
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh st ~ Lt ~ Fhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhLst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ zhst ~ zh st ~




